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No. of Questions/awt % wrear : 150
 Thme : 2 Hous Full Marks : 450
/9 ;25 W] ' (qurtes : 450

Note : (/) Attemptas many questions es you can. Each question carries 3 (Three) -
marks. One mark will be deducted for each incorrect answer,
Zero mark will be awarded for each unattempted question.
ST TE B e $Q WS B WS 59 3 () oiwt wmh
gRiw Tev 3w % g OW ofe wrET iy | W NARa O W
NN S8 |

(i) If more than one alternative answers seem to be approximate to the
correct answer, choose the closest one.
afy wiies dwfdw I ol I & fiee wite o, ot e aft am
E

(i) This paper comprises of three Sections : Physics, Chemistry and
Biology. Each section contains 50 questions.
7 w9 W= vl % 1 W R, wee e @ ol e R
wvg § 50w £ _

(1) (nﬂﬂﬂﬂﬂ'}.
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SECTION-}
ois-1
PHYSICS
1. The dimensional formula of universal gravitational constant Gis
i eerentn i G bt
- () [MET) (2) [MLT?)
@) [MUT] _ @) [MUT?]

. 2. If two vectors imdﬁmmhﬂutli-l-ﬁ-lj*ﬁl then the angle between
Aand B is- - .
gﬁm&uﬁmﬁwmt&p+3|-’4—§[mdmatmmm

(1) 0° (2) 90 (3) 60° (4) 1800

3. A car whose mass is 500 kg is moving with a speed of 10 m/sec on & horizontal
cimﬂarpamnfmdimmmfnrrlwmoﬂmofthecuwithumallpph;ﬁuw
efficient of friction will be (assume g = 10 m/sec?)

& R frwwn zemwm 500 fsn, €, 20 o i ard e emer e w10 64,
ﬁmﬂ;dtmﬂhhﬂﬁhﬁmﬂwmﬂ{mﬁ
g=10./82) . '

(1 0.3 (2) 04 (3) 0.5 (4) 0.6

4. The moment of inertia of a body about & given axis is 1.2 kg.m’. To produce a
relational kinetic energy of 1500 joule starting from rest an angular acceleration
@ =25 rad/sec’ must be applied about that axis for 2 period of
et Rrog w1 www sw % i 1.2 R, 2 & | et 1500 @ vk
i Fat oW w0t ¥ R ofre wme o =25 W /A, W 38 e W s
% TR 7

(1) 2sec(q)  (2) 4sec () (3) 5 sec (&,) (4) 10 sec (8,)

(2) (Continued)
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5, A simple pendulum has a time period T, when on earth's surface and T, when
™ taken to  height R bove earth's surface where R is the radius of the earth, The
value of T,/T, will be
@ T el W wems o amdeTe 7o geh we X R e, T R gt
e 4, | A 0 W wEdEE LY@ T/7, % 7[ g

(1) 4 (2) 2 3) V2 (4)0.5

6. A satellite orbiting in a circular orbit of radius R completes 1 revolution in
3 hours. If orbital radius of geostationary satellite is 42000 km then the value of
Ris
o vy Freds aefta Wl B fom R Y, @ T w F 3 o & am v & | AR
firdt wifRr Iy & et el ) fman 42000 R, & @ R & A g

(1) 9000 km (f%40,) (2) 10500 km (6 ,)
(3) 21000 km (f64.) (4 31500 km (F 0,

7. The time period and amplitude of an object executing simple harmonic motion
are 0,05 sec. and 4 cm respectively. Maximum velocity of the abject is
mmﬂnﬁﬂ?wﬁnwm:ﬁm 0.05 dreos & o amam 4 4R, R\
Rz & Fftrm 3 .

(1) 3.2 x m/sec (f./3.) (2) 2 n m/sec (f1,/R,)
(3) 4 © m/sec (41,/8,) (4) 1.6 n m/sec (N, /R,)

8. An inverted vessel (bell) lying at the bottom of a lake 47.6 m deep has 50 cc air
huppcdin'rl."[‘hebeﬂisbmusjnmﬂwsmfweufﬂwhke.memlmnfmc

trapped air will be —
*  (Assume that atmospheric pressure is 70 cm of mercury column whose

M$l3.ﬁMM’) : .
= Th7 (GA) #, S 47.6 0, et wher R vl woeeh 8, S0uA, Ty kAW
0 ) v ¥ T A FA T I 9 T T A T IR — -
(T i ARt gE-R ¥ 70 3,8, e e W e 13.6 7, /30,

(1) 350 cc (WA) (2) 300cc (WA) (3)250¢e (WR) (4) 200 cc (9:2,)

(3) | (Twrn Over)
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9. AgnsiumledWZ?'Cﬁm?Z?‘C.ThuMmﬂnlwlniuian
willbe |
T A & 9 W) 927 °C X 30 Wk 27 °C W R I X | 3w it s &
fevreerss e R W 7 _

(1) 0.25 (2) 033 (3) 0.50 (4) 0.75

10.A planet is revolving around the sun in an elliptical orbit. Its closest distance from
thesmhrmdﬂm&rﬂmtdiﬂmaisﬂ.lfﬂ_mmbimvﬂocityoﬂh:plm
whenitisclamtnthemn.hvthmiﬂmbhnlvelucity;whmitiaﬁheﬂtmha
sun will be ' :

@ e Q¢ & T SR A e o g d e Y v e r i v
T wftw 7@ R A | 3f2 378 ) et e, Rre v s gl F e v, vh o el
W, 9 T we g R v g f, Rl gt 7

(D) vrtr - @ wWEE (3}‘_;' 4) "J‘i:
Il.ﬁ'neepmﬁalasofnchmmmloutpdntth:vuﬂmofmeqw
ﬁmgleiﬂﬂ‘.hllnfllmumnmvhg simultaneously with same speed each
ﬂmgﬂwmeﬁimnfﬂnwimghmdmlﬁdemﬂmmtmidGofﬂwtrian;h.lf
nﬂamlﬁﬁmpuﬁde:ﬂﬁng&audmmfutmdﬂupﬂﬁcltm

from B retraces its path along GB with a different speed from that its initial
speed then the particle starting from C will

(1)move along BG with different speed equal to speed of particie starting
from B -

(2) move along GC with different speed oqual to speed of particle starting from 2
3) maveuﬁi:hitialqmdnlougﬂﬂ

(4) move with initial speed along GB

(4) (Contintied)
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din o, fds g wow R, et e ABC R Wit (ABO)w @ ¥
1 w0 T W R e R A firerma Y WE o e W
§ v g G, ol il el v TRt 9wt b, TR ) AR TRl S Al
ot 4 & wer amen ww fR 9 9 f T B R wER Tven w g 3w Rm (GB)
# TRt e ® e o @ wemR B o W O R e Jen W

(J}Wim#wnfmtmﬁ'mﬂ&mim&mﬁrmﬂmm

| :

{2]%m-ﬂu¥nmﬁumﬂm8&wﬁmmﬂmﬂmﬁ
I .

(3) GC Rem % o ynfeirss wrer & werm™ & amen |
{4) GB ftm & a5t Tnfs wer @ wenaTAL g wRm |

12.A bottle, filled with water at 60 *C, with its cap closed, is brought to moon. If
the cap of the bottle is opened there then

(1) water will start freezing in bottle.
{Z)ﬁtﬂwﬂlsmnboilhsmbutﬂe.

(3) nothing will happen to the water in bottle.
(4) water will decompose into H, and O,.

o W, Firt 60 °C o gt wa § an Sue awe =S @ W2 X, v WS Sndt e
f | o ol S Aew 1 T o R T A

(1) wrever o wF IR SR |
(2) Wvere  F e |
(3) Werer ¥ Wt W 3w Tl B |
(4) ¥reer & < H, O, 3 farafa e |
h (3) (Twrn Over)
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13.A body of mass m is suspended from a fixed hook with the help of s massiess wire
of length L and area of cross-section 4. If the Young's modulus of the wire by ¥
then find the frequency of oscillation in verticle line of the body which can be
started by pulling the body down by a distance /and then releasingit. .
L i 7 A'afode, daer 3 Rl AT W m gmwm W o Ry fh o §f ¥
ST R 4 TR, AR W 2 e e VR o et e 3 Rvs o /g o A
e ¥ W Wy 3 TSR A T v e v YR |

¥4 ml. 1 |mL 1 ¥4
) 1"\{;; @ ”J% v D

14.Two wires of same length and radius are subjected to the same load. One wire is
af steel and the other is of copper. If Young's modulus of steel is twice that of
copper then ratio of elastic energy stored per unit volume of steel to that of
copper wire is .
& e Rt wwmiui awn Pl woa § 33 ® F9 SCorewmn o 8 | on A e
W T gEn A A & 4 | 3R W W v s @ w e 6 e e
tﬂlﬁ?ﬁmmimﬁaﬁm FT ¥R

M2 @2 @) 1:4 (4) 4:1
15. A vessel is filled with liquid. Adhesive force between molecules of solid and
liquid is feeble in comparison with the cohesive force between the liquid
- molecules. Shape of the surface of the liquid near the solid will be
(1) horizontal (2) nearly vertical

(3) concave (4) convex

wﬁimwt:nn&a@th%mﬂﬂwkhmm
6 e % ag aftvn R | 3w & whe e T sl A

ks : (2) eFrom e
(3) srwren | (4) 3em

(6) (Continued)
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I'QMMinnupﬂhymﬁlheiahtofz.ﬂcm.lnmuﬁucupiuﬂmh
whose radius is one-third of it how much the water will rise ?
mmmimmm.mmwhmmmmimm

e - fiverd & v feht s o w2 ) '
(1) 3cm (2) 6ecm (3) 4em (4) 8em
17.Two separate air bubbles (radii 0.002 meter and 0.004 meter) formed of the
same liquid come together to form a double bubble joined with each other. Find
the radius and sense of curvature of the internal fitm surface common to both
the bubbles ;
(1) 0.002 meter concave towards the center of smaller bubble
(2) 0.002 meter concave towands the center of bigger bubble
(3) 0.004 meter concave towards the center of smaller bubble
(4) 0.004 meter concave towards the center of bigger bubble
& arem srem ¥ ¥ ey A s ;0,002 0, 79 0,004 4, & w7
@, o gt & e TR e O gt e O 2 yeren wan
¥ 1 21 wepet & oftw e i # vay B s yo SR T v TR
e |
(1) 0.002 fi, sreeer B2 Yo® & % U
(2) 0.002 #, srermer W yergt ¥ ¥ W M
(3) 0.004 h, e 12 Yo & ¥ ) ww
(4) 0.004 h, et w2 yEaR ¥ g W

(7) (Trm Over)
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18.A spherical surface of radius of curvature R separates air (refractive index 1)
from glass (refractive index 1.5). The center of curvature is in the gliss. A point
object P is placed in air. It is found to have a real image O of Pin glass, The line
PQ cuts the surface at point O and point PO = OQ, The distance PO is equal to
o BT R O e e Ay (s 1.00) B e (s 1.5) ¥ v
we ¥ | e faeg w9 ¥ 1Ay T v o AR T P Wi T A SRt
gz ¥ | Yan PO 8 % firg Ot wedh & wwr PO =00 % 1 g PO wort &

(1) SR (2) 3R (3)25R - @ 15R
19.An object is placed at a distance of 10 cm from a lens of + 5D. Find the pasition
of the image | ' |
% vt et + 5D R 3w 10 &30, 70 o ey vl et & | wivlbr ) el @
(1)-30 cm (334, (2) 30 cm (A5h,)
(3)20 cm (R) (4) =20 cm (330
20.The angle of a prism is A and its refractive index is m[-’%) the angle of
minimum leviation is
w B 1 swadars cm[%) et fom wm 4 & A mmaw freem SYu w5 wE B
(1) (180 —4) (2) (180 + 4) (3) (180 —24) _{4} (180 + 24)
21.In & two slit experiment with monochromatic light fringes are obtained on a
: memplmamdimﬁommuﬂh.lfﬁmmhmmdbyhm*m
towards the slits the change in fringe width is 3x 10" m. if the distance between
the slits is 10" m find the wavelength of light, :

(8) (Continved)
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il vl & s avifa w1 3vim e R il @ 3o 20 o vl O w afww
ot € ) AR F B R B WE 5x107 B, R 2 A wRweit H Hard §
3x107 i, 1 S W o & (ol el & e g 107 R, A D wEm
ok w7

(1) 40004 - (2) 60004  (3)3000 A (4) 5000 A

22.The polarizing angle for a8 medium-is B,whatﬁillbeﬂwcriﬁm angle 0, for that
medium
af? Rt urcum % Bl e Wiy 9, R Wt 8 W & R wiftw wo 6, T Em

(1) 8, =sin"(tan8, ) (2) B, =cos™ (cotd,)
(3) 6, =cos™(tn0,) . (4) 8, =sin™ (cot8,,)

23, An engine producing a pitch of 400 Hz is moving towards a stationary person with
a velocity of 220 m/sec. The velocity of sound is 330 m/sec. The frequency of

sound heard by the stationary person is
IR W ¥, Y 400 1 EfRY T wR e v R, R Rl is 9 ik 2209,
TMALNMA M@ RS 70 IR I = H i ym Al

(1) 1200 Hz (%) (2) 300 Hz (&)

© (3) 800 Hz (¥) (4) 200 Hz (wf)

24.Two wires of radii » and 2» respectively are welded together end to end. The
combination is used as a sonometer wire and is kept under a tension T. The welded
point is midway between the bridges. What would be the ratio of the number of

loops formed in the wires such that the joint is a node when stationary vibrations
are set up in the wires

(9) (urnOver) -
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2 e oy o wmm: - w27 o A A areut Ry A 3R Wk el woois
RATA Y ) o ol o GeiviteT § e ow o ww ww e o
T T | AT w1 g O dgedt i F & | oR e H o yww @ s
o F R AfEET & g v g o e @ A @ and F 9 ard wed
¥ 70 A A W () e s

(1) 1:4 (2) 1:3 (3) 1:2 (4)1:8

25.A tuning fork and an air column whose temperature is 51 °C produce 4 beats/sec
when sounded together. When the temperature of the air column decreases the
number of beats decreases. Finally when the temperature becomes 16 °C only
1 beat/sec is produced calculate the frequency of tuning fork.

0 T v A e, R v 51 0C 8, W o gt E e w0 W 4 Rei
SR 9, g e § |k arg v w1 R vy A, g ¥ e e 9 ven
T2t W e g W AW 16 °C 08 W g 3 A freid ) wo Rz /4,

8 e B A e srgf e AR |
(1) 100 Hz (wsf) | (2) 50 Hz (wf)
(3) 200 Hz (%) (4) 150 Hz (xh)

26.A ring of radius R carries a charge + q. A test charge — g, is released on its axis
gently at a distance V3R from its center. The kinetic energy acquired by the test
charge when it reaches the center of the ring will be

(10) i {Continued)
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o g, frht fisar R, @ + g o | @& vligw smim — g, ) o9 ovEE

¥2 2 VIR 0 W AR A S A ¥ | v 6 B % e e st
# nftre Tl Reaf weft 7

I 99, 1 qq
(D) &2s, & () $rs, B3R

: ‘ - .
O, 28E @ Tny 2R

. 27.The magnitude of electric ficld £ in the annular region of a charged cylindrical

il}hmm
(Z}Ishjgh«nmﬂwnutaé:yimmannmmenmcyﬁpw
(3) Varies as - where ris the distance from the axis
(4) varics as = where 7 is the distance from the axis
% YemmR Wt ¥ wearnn s i dga & daen E o aiemo
(1) @t firgadf ot 0w W &
: {2];ﬁhm#mw@ﬁqﬁﬁwimmtwmﬂﬂ@ﬁmm

(3)%%@@*&1&#:—“&@%
(4) =  arge Tz Al r o A 504

(11) (Turn Over)
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28.A charge ¢' is placed at the center of the line joining two equal charges g and g,
The systems of three charges will be in equilibrium if ¢’ is equal to
G & A e Ao Y ¥ e firg o ST ¢ R T | T s
F P rEm i AR ¢ mamE B

(1) —g2 (2) —q/4 () +4q/4 (4) + g2

29.An clectric dipole consists of two equal and opposite charges of magnitude
g =1.0x10" C separated by d = 2.0 cm. The dipole is placed in an electric
field of magnitude 1.0x 10* N/C . How much work must an external agent do
to turn the dipole end for end starting from the position of alignment (=0°)
% frga fegw 2 wwaw aw fegle wRw g =1.0x10 T & ¥ § s fiw A
0 =208, § a0 & T fgm @ 1.0x10° A fagem ¥ van § | fh wmed)
= B 30 g 9 v R A gt R v o w e wr v g sl

IR o0 S Bt 7 -
(1) 4.0x107 J (3w) (2) 2.0x107 J (3@)
(3)0.5x10? J_{aasl) (4) 8.0x107 J (3@)

30.Find the electric field at a distance » meter from an infinitely long very thin
uuifnnnlydwgedrodwithlinmknﬁtygcfm.
TS TR B Srafie wye weh o st A v, R s e A T/
et ¥, @ r ft, 30 R forg @ w1 o W kg |

L & L
() xE, ¥ @) 2xs, r
I 2 . i
(3} 4ﬂg r (4) 4"5‘.?1

(12) - (Contimued)
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31.A capacitor of capacitance 10 pF is charged up to 100 volt and the battery is

removed. Now this is joined to another uncharged capacitor in parallel system.
The common potential becomes 40 volt. The capacitance of other capacitor is

T 10 uF Wi & S & 100 dee o AR s f i d i d | s @
- ?mﬁ&umtm“imﬂmmt | v fawa 40 sz B
amen & | g sy ) arfn &

(1) 5uF (2) 10pF (3) 154F (4) 20F
32, Three capacitor of capacitances 3 pF, 10 uF and 15 pF mcamectedlnm'ies
to a voltage source of 100 volt. The charge on 10 uF

3 pF, lﬂmelsuF*?ﬁﬂRﬂlkﬂmsznhw mnomtm
Hra & St wrar & | 10 wF % duifer s

(1) 50 pcoulomb (ATER! Ferw) (2) 100 pcoulomb (WTHEH) Feria)
(3) 150 peoulomb (WTGR! FHH) (4) 200 pcoulomb (MTER ﬁﬁ}

33. A wire is to be stretched from a silver piece of fixed mass. For which combina-

tion of length / and area of cross-section A resistance of the wire will be mini-
mum 7

Rffa 2509 F 918 & UF 7€ %1 a0 a4 § | S [ ssersn § e A
F e gaeel 4 @ e g v s B 7 -

(1) /and (@) A (2) 2! and (W) A2

(3) % and (Tr1) 24 (4) 3/and (A1) A/3

34.The temperature coefficient of resistance of a wire is 0.00125 per °C, Its resis-

tance at 300 K is 1 0. At which temperature its resistance willbe 2 n?
T T 1 Wiy w qene 0.00125 ¥y +C R 1 300 °K W v wfvaw 1 ok | fe
A A frm e R vy 2 a8 7 .

(1) 1100°K (2) 127K (3) 1400 °K (4) 854 'K

(13) (Turn Over)
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35.A cell has an emf 1.5 V when it is connected across an external resistance of 2 o
the terminal potential difference falls to 1 volt. The external resistance of the cell

13
T He 7 forgy s ww 1.5 V3R 2 o sfidy % ar & o wwn & ) e
Rl w Ryvarm w2 3 | Vg wrr & | 9 W stinfon WG

m1a (2) 150 (3)05Q @20

J&hmmmmnmwwwmtﬁrﬁuﬁamﬂmarm
- Without any change in the velocity. I £ and Brepresent the electric and magnetic
fields respectively, which this region of space may have, then indicate the false
statement from the statements given below.

T S P 31 weren g o R @ @ ot v ot v 4 9 s

v | AR £ B 36 v R a e d o) wei wtw B sy
LER TR E R |

(D E=0,8=0 . (2) E=0, Bu0 -
(3) £E«0, B=0 (4) E#0, B=0

37. Which of the-following is not a basic logic gate
P 3 @ W &1 s R Az 2

(1) NOT gate () (2) OR gate ()
(3) AND gate (%2) (4) XOR gate (2) -
38.A current of 5 milliampere gives Mlmhﬂaﬂaﬂinnhlgﬂvmmmofmh-

tanceIOmanMmﬁlldiﬂ‘ummwtasu\fi:mbemmqmdwimmisguu-
nometer then ﬁndﬂmvalnwfmm&mﬂub:addadiumwiﬂam

(14) (Continued)
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7% 10 i wiwr a1 st 3 5 Rreft v v ot s i 3t 8 | v arerd
2 50 dree o w1 v e ¥ R Mﬂﬁwﬁnﬁnﬁﬂwmm =
e Hifag

(1) 990 (2) 9990 (3) 10010 (4) 1010

39.The impurity atoms with which pure Germanium slmu]d be doped to make a N
type semiconductor

(1) Sodium (2) Boron
(3) Aluminium (4) Antimony

maﬁﬁwﬁﬁﬂi%ﬁmmm@ﬁﬂmhwﬁﬁﬁﬂ N ¥&R &
sEawe | wed W

(1) wtfeam (2) 9
(3) wegfufrm (4) TRt

40.1f for a transistor the common emitter current gain is 122.75 then find the
common base current gain _
Rret e & ot o sl aroefely 1o 122,75 & < 8% Rt awafie
MU tRTAR o RRaT w7

(1) 0.975 (2) .985 (3) 0.982 (4) 0.972

(15) (Turn Over)
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41.0n increasing the temperature of & reverse biased P-N junction Germanium
diode the reverse saturation current increases because

(1) The mobility of charge carriers increases
(2) The minority carrier concentration increases
(3) The majority carrier concentration increases
(4) Themobility of charge carriers decreases

Rt sreafie & @t PN aa Ty, B sarw atftafd § 4, = o o s
T Al T Al wgw aw W ey omn & Wit R

(1) 3w el i wrerren a3 w4 |
(:)mmmmﬁm“mn t
(3) ag weww amaw amww! ) aw ag wwh 4 )
(4) e A Y wrere we Tt f |

42.The maximum kinetic energy of photo-electrons emitted from a metal surface
whenphummofﬁc\ffuunnitlsdu“mn@pingpﬁmﬁa}involtsia
mwﬁmmm&ﬂaﬁ%ﬂmﬁr&!a\mﬁm—ﬂmﬁﬁmm
Faf 4eVE | B v e 3 &

(1) 2 (2) 6 (3)8 ) 4

(16) (Continued)
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43.'[h.-.mmityofmdiaﬁmmuedbyaunhasitsmvﬂncatammqﬁof
510 nm and that emitted by the north star has the maximum value 350 nm. If
these stars behave like black bodies then the ratio of the surface temperature of
the sun and the north star is -
G o Ioufifa ffdem 3t fwm 510 nm ) ainded v siftmaw ¥ 7 3wd ant g
et fafeeror 6t fterar 350 nm w rfirem & | If2 e AR won Rt A ws A
o B o gl o st @R % gut 3 it e oo R

(1) 0.69 (2) 0.83 (3) 1.46 (4) 1.43

44.1f elements with principal quantum number >4 did not exist in nature the
maximum number of possible elements would be
R wHf # qeen wvem w1 #>4 % e T B A Wi sty st e B
(1) 30 (2) 80 (3) 60 (4) 50

45.The wavelength of X, X ray line emitted from anticathode of atomic number Z is
approximately proportional to
Z qoam] Fen A1 we & GAde A s K, X Rl ) ainded s qumerd
L

1 |

M (z-1 @ Zoy 3) (z-2) 4 (z-2y

46.1f the rms value of the AC voltage across the secondary of the transformer in a
" half wave rectifier is 9 V the maximum DC voltage across the load without
any filter is about
Rem a1 win el # graeredt ) feftas # e yermell w0 (qft,) @ & e
m (¥ fave w1 w9 9 aiee ¥ AR (Te) W e (#dR) Riva = w=

TR g W e (Feeet) who ol gk 7
(1) 4V (3=) (2) 8V (@)
(3) 6 V (dree) (4) 10V (ae2)

(17) (Zurn Over)
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47.A radioactive substance has half life of 60 minute. The fraction of the substance
that will be decayed during 3 hours will be
% tawfra ol a;ﬂmg 60 fire & | fi7 w2 am fmw el av w wreh 7
(1) 12.5% (2) 25.5% (3) 62.5% (4) 87.5%

48. The nuclear radius of an element X% ig 7.731 fermi. The radius of the nucleus
of'the element Y* will be
gfe Xeqmm & T ) e 7,731 & @ Yiom & wftves o fwn feacht winft 7
(1) 3.865 fermi (%) (2) 2.577 fermi ()
(3) 22.193 fermi (wff) (4) 15.462 fermi (wif)

49, The reason for production of energy in nuﬂw reactor is

(1) Nuclear fission (2) Nuclear fusion
(3) Radioactivity (4) Chemical reaction
firelt rfirfirg frdeer # i Jeom @19 & #rw }

(1) Tferhr famve= (2) TR e
tIS}mﬂﬁﬁ (4) TERTY® Wi

50.An q particle of energy 4 MeV is scattered through 180° by a fixed gold (Z=7%)

nucleus. The distance of closest ap is of the order of
4 MeV 531 %1 @& g w1 7% fRR mgi{z 79) & 7ifirms A 180° % wror @ whifha
B R | o ¥ H fim ¥ Freem e © 70 TR R

(1) 10" em (A7) (2) 107 em (R3R)
(3) 107 em (8.30.) (4) 10" em (A,30,)

(18) (Continued)
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SECTION-II
||
CHEMISTRY

£1. Which of the following is not true ?

(1) B{OH), is acidic (2) B(OH), is basic
(3) AI(OH), is amphoteric (4) Na(OH) is basic
U R R R |

(1) B(OH), 3r=fta ¥ (2) B(OH), &l ¥

(3) ALOH), waieha B (4) Na(OH) &70 3
§2. Dual nature of matter was predicted by

qard w1 T wgpf femy @aman 7

(1) Neils Bohr (2) de Broglie

(3) Heisenberg (4) Albert Einstein

. 83, [UPAC name of the element of atomic number 108 is
e T 108 AT e & S AL, A R

(1) UnO (2) Uen (3) Onu (4) Nou

54, Which of the following is the strongest oxidizing agent 7
B & ot e aradteRs ¥ 7

(1) NaBiO, (2) K,Cr,0, (3) KMnO, (4) PYO,

(19) {Turn Over)
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55. Diborane contains
(1) Seven covalent bonds
(2) Five two centre-two electron bonds and one three centre-two electron bonds
{3) Two three centre-two electron bonds and four two centre-two electron bonds
(4) One four centre-three eleciron bonds and five two centre-two electron bonds
Byt if &
(1) &T0 wwearrs w7y
(2) 919 3 F2-3 WiHRE T 3 0 A -2 wwE o
(3) 2 1 %2 WA = aw WD $-1 WeE v
(4) T wm - wegR T a0 v & F2-2 vegE wy

56.Stability of chlorides in +1 oxidation state of elements of 13 group of the
periodic table increases going down the group because of

(1) Inert pair effect (2) Covalent bond formation
(3) Ionic bond formation (4) Coordinate bond formation

nwﬂmﬁvﬁimhﬂaﬁtﬂmmﬁmﬁmmﬁ
ﬁﬂﬁﬂ(ﬂi‘ﬂt | Fr= & rw

(1) *fiva g 1 (2) WeERow W Wi
(3) smfasw v v {4}a§mﬁﬁamm

(20) (Contimued)
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57. Assertion A ; Hydrolysis of dimethyl dichloro silane gives dimethy] dilydroxy
Assertion B : z::uﬂn:;nsatim of polymerization of dimethyl dihydroxy silane
gives straight chain polymer.
(1) A and B both are correct
(2) A is correct and B is wrong
(3) A and B both are wrong
(4) A is wrong and B is correct
Assertion () A : gﬂq‘!ﬁﬁﬂ::ﬂﬁmﬁmﬁﬂﬁﬁﬂmﬁﬁﬂm
T

Assertion (370) B : seRf@ e it # SR TefreeT 813 W
wran ¥ aven greftat & # |

(1) A& B3 whi ¥
() Awht, Buera
(3) A mm B 2t e #
(4) A v § 7 B Wt &

58.Oxidation state of Ni in Ni{CN), is
Ni(CN)! # Fibm w1 Froe ol s ¢

(n 2 (2) 4 30 (4) 1

(21) (Turn Over)
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59, Semiconductors have conductivity in the following range :

At e & d e e d
(1) 10 -10' ohm™'m™' (2) 10" -10" ohm™'m™
(3) 10* - 10" ohm™'m"' (4) 10" =10 ohm™m™
60, Electronic configuration of praeseodymium (Pr) is
- SRR (Pr) 1 wewge e Rl
(1) 4F 5d°6¢? (2) 4£ 5d' 6s?
(3) 4f" 5d? 657 (4) 4F 5d' 6s'

61. Which one of the following is salicylic acid ?
i § T-w e s d 2

OOH OH
1) @[( @ @:
COOH COOH

OH CCOH
(3) (4)
O
OOH COOH

62.In the given reaction R - NH, —SE42KH (%) (X)) will be
(1) R-CN (2) R-NHOH (3) R-NC (4) R-N,CI

@ mf wftBrn R - NH, —HOEMMKN (v} F (X) B

(1) R-CN (2) R-NHOH . (3) R-NC (4) R-N,Cl

(22) (Continued)
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63. Which of the following molecules is chiral ?
mifrfer e m s s b 7

COOH OOH
M g1 o (2)
" H OH
H— OH
COOH H,
COOH COOH

3) (4)
H H H —Cl
OOH c

64. Which one of the following is S configuration ?
giasmm St 7

COOH COOH
D )
H OH HO CH,
CH, H
COOH OOH
() He OH (4) HC H
H OH

65. In the given reaction C,H,CHO + HCHO —=522 (X} (X) will be
(1) C,H,COOH +CH,0H (2) C,H,CH,OH + HCOONa

(3) C,H,COONa + HCOONa (4) C,H,CH,0H+CH,0H

(23) (Turn Over)
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& m§ sfifd C H,CHO + HCHO —BLNH_, () 3§ (X) i
(1) C,H,COOH +CH,0H (2) C,H,CH,OH + HCOONa
(3) C,H,COONa + HCOONa (4) C,H,CH,OH + CH,0H

66.Number of unpaired electrons in 0,, 03, O; and O3 are :
0,, 0, O; a0 O} ¥ Yy wwragRl A v e f .

(1)1,2,1,0 (2} 1,1,0,2
(3)2,1,1,0 (4)0,2,1,1

67. Group precipitating reagents for barium group cations in qualitative analysis are
e faveiyer # dftam WO ¥ v o W sadiRe w3 % R A s
(reagents) &
(1) NH,CL, NH (OH) (2) NH,0H
(3) (NH,).CO, (4) (NH,),H PO,

68.Assertion A : Ni(CN);" is square planar and diamagnetic.
B : Ni* in Ni(CN);" has dsp? hybridization.

(1) Statement A is true and B is wrong,
(2) Statement A is wrong and B is true.
(3) Both A and B are true.

(4) Both A and B are wrong.

(24) (Continued)
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Assertion A : Ni(CN)!" S @ aw witiRw &
B : Ni(CN) # PR dsp? enfirangiom e & |
(v ATt TS BeR d | |
(Q)ew ATea T ST BEd ¥ )
()% A F BART wit & |
(4) FE AT A B mea & |

69, Number of unpaired electrons in gaseous Cr*, Mn*, Fe** and Co™ are . |
My Cr’*, Mn”, Fe* a1 Co™ # srgfita vovgrt 9 weem et §

(1)3,4,3,4 (2)4,5,4,3
(3)5,4,3.4 (4)4,3,4,5

70.Last element in the actinide series is
wade At % afFw e d

(1) Pa (2) Pu (3) Cm (4) Lr

71.In Co(NH,) CL, the smmdarrand primary valencies are
Co{NH,},CI,Eﬁ’h:& a7 ST sararnar te

(1) 6,3 (2) 4,3 (3)5,2 (4) 6,1

(2%) (Turn Over)
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72. Dichlorobis (ethane- |, 2-diamine) cobalt (IIT) is

mrfE (vR-1, 2-sref) W (1) &

(1) [CoCl, (en), T (2) [Cofen), 1, ]’

(3) [Cocl, (en), T (4) [Cofen), €1, 1"
73. Which of the following is an outer-orbital complex ?

P 3 w7 ww anffeer wiee smp & 7

(1) Cofen);’ (2) Co(CN);

(3) CoF” | (4) [CoCly(em), T

74.M—C bonds in the metal carbonyls contains

(1) o -band only (2) #-bond only
(3) or-and -bond (4) o-and § -bond
U SR § umy-w W e &

(1) %™ o -wu (2) ¥a® £ -
(3) o~ T x-wy . (@) o-ma 5 -w

(26) - (Contined)
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75, Which of the following is true ?
(1) FeF; is high-spin complex and Fe(CN),” is low-spin complex.
(2) FeF} is low-spin complex and Fe(CN), is high-spin complex.
(3) Both FeF} and Fe{CN),  are low-spin complexes,
(4) Both FeE)” and Fe(CN)” are high-spin complexes
iRl ?
(1) FeF}- varey fo e 319y § e Fe(CN),. ¥ R afemt o € 4
(2) Feky- %9 o <Ra am § am Fe(CN), wame f wﬂn I i
(3) FeF} a1 Fe(CN)." it wn f@m aftm s # 1
(4) FeR;" T Fe(CN);" 3t vy fee et orop &

76. Which one of the following decolourises Baeyer reagent ?
frsfrien & | ¥h-m T sftls R IR w7

(1) CHCOOH  -(2) @ (3) CHCH,  (4) CH,<CH,

77. Outermost electronic configuration of the transition elements is

T el o aredt weregE e e d
{1) {ﬂ*szl-“dI“:Dﬁz (2] (n_l)dl—lmlul
(3) (n-1)d"ns' | (4) (n-1)d®ns’

(27) (Turn Over)
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78. The shapes of H,0, NH,, CIF, and X¢F, are
(1) Pyramidal, Bent, T-shape, Square planar
(2) Bent, Pyramidal, T-shape, Square planar
(3) T-shape, Square planar, Bent, Pyramidal
(4) Square planar, Bent, Pyramidal, T-shape
H,0, NH,, CIF, 71 XeF 3oyl i st §
(1) Rafiem, ¥, &-apl, Ww S
(2) ¥, o, A-3mef, dea @
(3) A-smyf, Wem R, ¥, R
(4) dver ¥, ¥z, R, A~

79.Bond of the halogen molecules has the following order
ke wu T w1 e s }

(DF,>CL>Br,>1, (2) C1,>Br,>F, >,

(3)F,<CL>Br,>1, (4) Br,>Cl,>L,>F,
80. Which of the following is paramagnetic ?

e & o gl d 7

(1) Ni(CN); (2) Ni(C0),

(3) Ni(CN); (4) NiCIF

(28) (Continued)
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81.Correct outermost electronic configuration is

wft el e fer d
(1) Cr(3d'4s') (2) Cr* (3d4¢')
(3) Cu* (3d"44') (4) Cu(3d"4s°)

. 82.Number of electrons, protons snd neutrons in olement ®X are
T NX ¥ wagn, TR e e ) wer f

(1) 35, 45,35 (2) 35, 35, 45
(3) 45, 35, 35 (4) 35, 45, 42
83. In the ground state of the atom, the orbitals are filled by electrons according to

(1) Aufbeu principle (2) Hund's rule

(3) Pauli's exclusion principle (4) All the three

vt e % v v § skl & e ¥ anpar YR R

(1) srwis Regr (2) g@

(3) et & wwamegEs fgm (@) oh A

84. Which one of the following has light flesh (pink) colour ?
= & ot wew wiw (ee) W R 7

(1) b, (2) HgS (3) Bi,S, (4) MnS

(29) (Turn Over)
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85. Outer electronic configuration nffhn!limn is

tfvam w1 weh vege fama §
(1) 6s? 6p' (2) 5d' 6s?
(3) 6s' 6p? (4) 4d’ 68

86. Among the following which is the structure of TN.T?
nﬁ%&aaﬁmm-ﬂit ?

.
e

87. Shape (structure) of copper sulphate pentahydrate is

(1) Tetrahedral (2) Square planar
(3) Square pyramidal (4) Trigonal bipyramidal
FIR FTEhE ez it A {ﬂm}’ﬁﬁ %

(1) Zrgm (2) AR R

(3) s R (4) Reivrer amfrofreer

(0 (Contimied)
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88. Which of the following has T-shape ?
e # fseft &t-angfa & 7

(1) BF, (2) NF, (3)-PF, (4) CFF,
H.bm¢HM¢ﬂmiMﬁmmhmMmuf |

(1) d-block contraction (2) lanthanide contraction

(3) Both are transition clements  (4) Both belong to the same group -

uﬂﬁnmm!ﬁwgﬂmmwﬂtﬁntm

(1) ¥t-veres fRrgpen (Z)Qanmﬁﬂn

(3) 3t 7ifrem v (4) & v @ wie ¥ e &
H.Mviulﬂcnlmdpmiumpmw@:ducm

(l}hmﬂigmclmiﬁm ' (2) d-d transition

(3) Charge transfer transition (4) f-f transition

ﬁttﬁmmﬁnﬂzmmmrhﬁnﬁﬁﬁa#mf?

(1) FrRe=g gifie (2) @ ziRem

(3) wrk Zra g (4) T5-u% ZiRe

(31) (Tirm Over)
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91, In Zn(EDTA) complex, ligand is

(1) Hexadentate (2) Tetradentate  (3) Bidentate (4) Tridentate

firs v A, e sy ¥ Refs ¥

(1) Wz (2) PR (3) w2 OF 22
92. The complex [ CrCl, (OX), ] has |

(1) Cis-isomers only (2) Trans-isomers only

(3} Cis-, trans- and optical isomers (4) Trans- and optical isomers

wfem 9 [CrCl, (0X), ] wmd

(1) ¥=& fr Yahw (2) ¥am 7| Y@

(3) Rem-, Zim- 7w SriRwe G (4) ghe T nfRee ¥eE
93.Which one is inner orbital complex ?

fr=t & # I anfice aRw s & 7

(1} MnCI} (2) FeFR; ) c:n;F." (4) Ma(CN){
94. Which one of the following is mha@:lmpmwn? |

e % W ke awr el f 7

(1) NiCE- (@) Ni(cN);, () Ni(CO),  (4) Ni(CN)

(32) (Continued)
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95. Hemoglobin is coordination compound of
et fee semifT de k7
(1) Mn (2) Fe {3) Ru (4) Ni

96.Oxidation number of cobalt in K[ Co(C0), ] is
" K[Co(c0),] # wraree # s wwm B b

(1) +1 (2) +3 (3) -1 (4)0

97. Which one of the following is Z configuration ?
w3 we-m Z w7

H +CH, HC\ CH,
a =& @ x-<,

Hy CH H e
® o Na & PEC:C a

98. Which of the following has largest dipole moment ?
= o forem wal ) Trgde Wk R 7

(1) HF (2) HI (3) HBI .[4} HCI

99, The dsp? hybridization for square planar shape uses d-orbital
mﬁ:mtﬁmmm 4~z e Bt & 7

(1) dxy (2) dy, (3) &2 - (4) dxy?
100. Pick up nucleophile among the following :
vl & mitve-wnft IR
(1) CH=CH, (2) BF, 3) Cl-l,—gﬂ, (4) AICL

(33) (Turn Over)
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SECTION-III
o
BIOLOGY

101. Companion cells are closely associated with
(1) Guardcells (2) Trichomes (3) Vessel elements  (4) g it
we-wree ferd o wo 3 g ot §
fnmm(nm Q) e @iven  (4) @i

102. Closed vascular bundles lu}i -

(1) Phloem (2) Cambium  (3) Vessels (4) Xylem
o WA wowE # w Tl o arn &
(1) 7w (2) &frm (3) ¥ (4) wrwaw

103. Body of ovule is attached to funicle at a point called .
(1) Hilum (2) Micropyle (3) Integuments (4) Chalaza
e w vt wfRfee ¥ fre om woge o § |

(1) g (2) svEgR (3) www (4) Pvm |

(34) (Continued)
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104. During microsporogenesis, meiosis occurs in

(1) Endothecium (2) Microspore mother cell
(3) Microspore tetrad (4) Pollen grains
A REARE ¥ T v e Rrwre fet g §
(1)yweififiam (2) e dromoy my wiiee
. ()eg @y
105. Tapetum is found in
| (1) Ovule | (2) Anther
(3) Overy _ (4) Filament
Hien sl wrm wmm #
(1) W | (2) "M
(3) wgreE (4 TR-7Y
106. Cmnpmmmmismm |
(1) Piswm sathmom | (2) Oenothera lamarckiana
(3) Mirabilis jalapa (4) Lathyrus odordtus

(35) {Turm Over)
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qoi ~srvnviren el wff i ot &

LKL (2) sy STRAT

(3) Boftferg e (4) Hwvrrg g
107, Tt % ttis |

(1) Reciprocal cross . (2) Hybridization

(3)Back cross (4) Test cross

Tex P dwnd |

(1) i weve (2) wrafirarrdes

()% - B < (4) TR-wW

108. Peptide synthesis inside a cell takes place in
(1) Chromoplast (2) Ribosomes

(3) Chloroplast (4) Mitochondria
wifwn § Y- fvet g &

(1) snwiraeme (2) e

(3) ity wam (4) TR

(36) (Continued)
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109. Which of the following steps in transcription is catalysed by RNA
polymerase ?

(1) Initiation p (2) Elongation
(3) Termination {4) Both Initiation and Termination
m.iﬁni%ﬂwmmmmﬂ;mRIﬂHmmm!
(1) vRftreE (2) wres
Goddew (4) ¥PrRrae @ a2l
110, The amino acid attaches to the tRNA at its
(1) 5 -end (2) 3 -end 3) Anticodmsit; (4) DHU loop
AP S -3 FoTy ¥ ol T WA 2
(1) §-fm 3  QG)HEERE (41ﬂ.ﬁw.q¢qqﬂ
111, 'Origin nfSp&ieﬁ was written by

(1) Darwin (2) Lamarck (3) De Vries (4) Mendel

'iffE wre viefler e R g
(1) srfam (2) SRk (3) - - {4) eEE

(37) ~ (Twrn Over)
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112. Morphine is obtained from

(1) Rauvolfia serpentina (2) Papaver mmnﬁn{m
(3) Curcuma longa (4) Argemone mexicana
Ll Rmit WA g
(1) T sr=rmm (2) M FifEdar
(3) 3 o=  (4) mf¥adT MR
113. Polyploidy can be induced artificially by
(1) Line breeding (2) Inbreeding  (3) Selfpollination  (4) Colchicine
$m w9 2 it s g & o awh

()= fiufem (2) w-ffr

114. Spirulina is
{1) Biofertilizer
(3) Biopesticide
S S
(1) ¥ s
(3) e Wz

(3) - (4) wRRRR

(2) Edible fungus
(4) Single cell protein

(2) aTu-wns

(4) Rvrer whm W

(38) (Continued)
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115. Which of the following is not & biofertilizer ?

| (1) Nostoc (2) Mycorrhiza
(3) Rhizobium . (4) Agrobacterium
A 8 o e el 4 7
(1) 2w (2) werraEn
(3) rrAw (4) eHlfRAam

116. Molecular Scissors' used in genctic engineering is.
(1) DNA ligase ) DNAW-:
(3) Helicase (4) Restriction endonuclease
Ffw VPRt ¥ e 3w midvper Rrerd w0
(1) %o, TR (2) Qo TR
(3) Mwsn (4) R v

117. DNA fragments are joined by
(1) Ligase (2) Polymerase

(3)Helicase (4) Gyrase

(39) (Turn Over)
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BT, F g et 3o §
(1) o (2) Trfer
(3) ¥R _ (4) TR

118. Energy transfer from one trophic level to another is

7 s e R 7@ 7is Ad # et i &1 v wen X

(1)5% (2) 15%
(3)20% - (4) 10%
119. An inverted pyramid of biomass can be found in

(1) Grassland Ecosystem (2) Marine Ecosystem

(3) Forest Ecosystem (4) Tundra

arRmE & 3ee FRfrg Rt wan o wwm

(1) wredhe wRfRfs o=x (2) vy wifefies o=
(3) e miRfRfr 7= 4y 7

128, Which of the following is not a producer ?

(1) Spirogyra (2) Volvox
(3) Nostoc (4) Agaricus
(40)
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%@ o S i & 7
(1) & (2) srFamaw
(3) e (4) oitww

121. "World Biodiversity Day' is

(1) June 5 (2) April 22

(3) September 16 (4) December 29
'farg I3 Ry fr w1 4

(s ~g (2) 3% @

(3) 28 T (4) 3% Ramw

122. Drug Reserpine'is obtained from

(1) Pinus (2) Rawvolfia
(3) Withania (4) Atropa
frerdt’ g el wm o

(L) (2) Teaifcsar
(3) AR (4) whwr

(41) (Twrn Over)
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123. Splitting of water in photosynthesis is called

(1) Dark Reaction (2) Photolysis
(3) Electron Transfer {(4) Phototropism
w&na deewe § er w e wyerm

(1) o Howe (2) wRffe

(3) VR TR (4) wergfrom

124. Kreh cycle takes place in

(1) Chloroplast (2) Ribosomes

(3) Mitochondria (4) Endoplasmic Reticulum
#u % fred dan d

(1) ¥t w=w (F=Arireme) (2) THArE

(3) wraEveTRyp (4) wErafyes g

125, Example of sapraphytic angiosperm is
(1) Cuscuta (2) Orobanche

(3) Meonotropa (4) Loranthus

(42) (Continued)
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gl smrpEeahl 1 emwer §
(1) wager (2)
(3) Waghr (4) TRww

126. Fibrinogen is absent in

(1) Blood (2) Serum

(3) Plasma (4) Serum and Plasma
wrfir fses Tl o o |

(1) (2) #rm

(3) s (4) #m ¥

127, Silver nitrate solution is used to study of
(1) Nucleus (2) Endoplasmic reticulum
(3) Golgi apparatus (4) Mitochondria
R A R = w&h e srease A foem R
L (&S (2) 3. wgeh v

(3) 7R s (4) ATEERITRAT
(43) (Turn Over)
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128, Which of the metal causes [tai-Itai disease
(1) Cobalt (2) Mercury
{3) Chromium {4) Cadmium

few urg % wron fay-tey O A d

(1) Sraee (2) whe

(3) wifiray (4) dsfrgm
129. Radula is found in

(1) Pilasp. (2) Chitonsp.

(3) Lamellidens sp. (4) Pinctada sp.

tggen qrn wrm &

(1) meen =h (2) w2t e,

(3)hfrd= =, (4) R wh,

. 130. Yellow spot's occurs in

(1)Eye (2) Heart

(3) Kidney (4) Ear

(44) (Continued)
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i firg foret wran v &

(1) 5t (2) v

(3)yw (4)

A true coelom is lined on all sides by

(1) Ectoderm (2) Mesoderm

(3) Endoderm (4) Ectoderm and endoderm
o W ReE Wt e & i e

(1) wrgrerd & (2) woqad &

(3) e & (4) wrgrend s simoed &
Five kingdom approach of classification was suggested by
(1)R. H. Whittaker (2) Carolus Linnacous
(3) Casper Bauhin (4) Thomas Johnson
flaw ) v o g B g w

(1) 3w, T3, e & gr (2) ¥rerm fofram & g
(3) e wfEm & yra (4) wmrE WEEE & g

{45) (Turn Over)
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133. Which of the following is not a part of a transcription unit in DNA
(1) Promoter (2) Structural gene
(3) Inducer (4) Terminator
Preferfin A W B To G H wRdvam woré % v Al &
(1) e (2) HeTEE FH
() ¥ g (4) Tz

134. The largest ecosystem of the earth is
(1) Biome (2) Biosphere
(3) Hydrosphere (4) Lithosphere
qeft vt wed W orfRfaE-a & -
(1) wmats (2) Jewoger
(3) SemvEs (4) ToEvUEA

135, Zoological name of domestic dog is
(1) Felis indicus (2) Equus caballus

(3) Canis familiaris (4) Canis vulpes

(46) ~ (Continued)
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R ¥ 1 7Y dwire T f

(1) ¥form plewe (2) Fvw e

(3) ¥Rw SAfermie (4) ¥R gover
136, Heart of Heart is

(1) SA node (2) AV node

(3) Bundle of His (4) Purkinje fibres

LILE 08 SO R

(1)SA s (2) AvTs

(3) wvze ¥ fir (4) qRFY prgad

137. The special contractile protein actin is found in
(1) Thick filaments of A-bands
(2) Thin filaments of I-bands
(3) Both thick and thin bands

(4)InZ line

(47) (Turn Over)
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R wgrerefter S arn &
(1) A-tog & =2 wysit
(2) 1-¥vg & ver agaA
(3)AR it vk Rt dve 3
(4) Z-wmyw &
138, Duct of Wirsung is associated with
(1) Gall bladder (2) Pancreas
(3) Salivary gland (4) Urethra |
fargm # ftve B & wag ¥R 4
(1) R (2) wmrem
(3) TarR (4) wgmt
139. Haemopbhilia is a hereditary disease. The gene for this diseasg is located in
(1)21* chromosome (2) All autosomes
(3) Cytoplasmic DNA (4) Sex-chromosomes

(4%) (Continued)
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R T ST A & 1w At & e e R ¥
(1) 2141 R (2) o "wiRrEn’
(3) Wit et fwon, (4) fém Torg
140. Which one of'the following cells produces IgM antibodies ?
(1) Virgin B cells (2) Develaping B cells
(3) Mast cells (4) Macrophages
Frferfa 3 & 17 Fifed srfdior (1gM) 'watdie =t @ 4 |
(1) e & i (2) qiaed ' wfEm
(3) e iR (4) "Hsritmre
141, Omithorynchus isa
(1) Fossil bird
(2) Flightless bird
(3) Connecting link between reptiles and birds

(4) Mammal

(49) (Turn Over)
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it fer 3 3 o}

(1) v geft

(2) 3% tim wafi

(3) 98 am wigy & ¥a F FEEE
(4) @anfl

142. Paralysis of muscles of mastication would be due to loss of function of the
cranial nerve

s areft shefinl w1 o om e e ) ¥ e e % W %
wran &
(1) m (2) Vv (3) VI (4) IX

143, Liver fluke belongs to phylum
(1) Aschelminthes (2) Platyhelminthes
(3) Annelida (4) Ctenophora
TFa Ff Wy ¥ wrafim d
(1) wefetr (2) iy
(3) Thiferen (4) &em

(50) (Continued)
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144. Graaffian follicle is found in
(1) Thyroid (2) Ovary
(3) Adrenal (4) Parathyroid
Mswm giesm o 3 oy e )
(1) szt (2) sewm
(3) sftrgem (4) T

145. Fertilization in mammals occurs in

(1) Fallopian tube (2) Uterus
(3) Ovary (4) Vagina
st ¥ fris fes & g &

(1) e e (2) mafera
(3) sErerm (4) D

146. Long lesting deficiency of Vitamin D results in
(1) Osteomalacia (2) Scurvy
(3) Berry berry (4) Pernicious anemia

(51) (Turn Over)
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farfim #r 6 et safty o wmft w4 % oftom @wy s 2 4
(1) wifeRsi@fm (2) vl
(3)¥f-¥0 (4) Yehftere whifan

147. Albinism is a

(1) Autosomal recessive (2) Autosomal dominance
(3) Sex linked recessive (4) Sex linked dominance
o &

(1) smévdnre st (2) HIEHAS Traeq

(3) fém ¥ syt (4) fém wdrem smaea

148. In Sickle - cell Anemia disease, the glutamic acid at the 6 position in B chain
of hemoglobin is replaced by

(1) Leucine (2) Histamine
(3) Valine (4) Proline

Eitvarrn-wftany wrem fml § el o direife ® o § wed
waw W e gro wlvenfim fmm s

()=fm (2) Rt
(3)%f O

(52) (Continued)



16U/118/9 (1)

149. Cytochrome oxidase deficiency in mitochondria causes
(1) Menke's disease (2) Kearns-Says Syndrome

(3) Leber's Optic Neuropathy (4) Jacob's Syndrome

TSI § Aemem SR f =i F A vk |
(1) %= T (2) ST~V ForEr
(3)oee g whemr T | (4) S v

150, The criss cross inheritance is seen in cage nf
(1) Autosomal genes (2) Sex linked genes

(3) Dominant autosomal genes (4) Transgenes

= B e mmmt
(1) #idahe W= | (2) dw férm S
O)ehim srm s (@) gt
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